E(2)/ kcal mol-1
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Figure 4. 


18.61	6.19	7.79	9.02	9.92	10.95	11.71	31.27	28.68	27.18	36.99	30.29	28.95	-6.3719469441029997	-2.7345505497628499	-3.2248773350234998	-3.593073063216	-3.8433621410729999	-4.129114507323	-4.3360388791200002	-9.4255817574555003	-8.7794746514669999	-8.4591116260364991	-11.1677744797905	-9.3189140622239997	-8.5832448384735009	
20.09	36.450000000000003	33.910000000000004	31.65	43.34	40.78	38.58	13	13.68	14.07	8.6999999999999993	10.44	11.75	-8.8366307095560011	-14.801321216370001	-13.623938604724501	-12.8530723764495	-16.833723131978999	-15.892413516017999	-15.310320117026999	-6.6099949020104996	-6.7931900772840006	-6.8938438421775006	-5.6704029691724998	-5.9994518625209992	-6.3251032284765003	



2.7099999999999999E-2	1.4908918E-2	1.6884364799999999E-2	1.8276352700000002E-2	1.91659749E-2	2.0195219699999999E-2	2.0922346099999999E-2	3.6496684100000003E-2	3.4655615600000002E-2	3.3714583899999997E-2	4.1098763900000002E-2	3.6099455599999997E-2	3.4034642300000001E-2	-6.3719469441029997	-2.7345505497628499	-3.2248773350234998	-3.593073063216	-3.8433621410729999	-4.129114507323	-4.3360388791200002	-9.4255817574555003	-8.7794746514669999	-8.4591116260364991	-11.1677744797905	-9.3189140622239997	-8.5832448384735009	y = -403.01x + 3.5744
R² = 0.9992

3.1399999999999997E-2	4.5488660600000001E-2	4.28761935E-2	4.1139994800000003E-2	5.0238294599999997E-2	4.8159798599999998E-2	4.68516722E-2	2.53247944E-2	2.58784993E-2	2.61886177E-2	2.2404991499999999E-2	2.3449028199999999E-2	2.4466622300000001E-2	-8.8366307095560011	-14.801321216370001	-13.623938604724501	-12.8530723764495	-16.833723131978999	-15.892413516017999	-15.310320117026999	-6.6099949020104996	-6.7931900772840006	-6.8938438421775006	-5.6704029691724998	-5.9994518625209992	-6.3251032284765003	


